Visualizing what geeks cannot see
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Software Visualization Topics

e Understanding

e Testing and Debugging
* Maintenance

* |nteraction & Layout

e Algorithm
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What's going on?

e Potential software bugs
— memory leak, buffer overrun, null dereferencing, ...
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ar appliedImage:Array.
aaa:ArrayCollection;

after.setImage (setAppliedImage (currentAlgorithm), currentl | g

private fonction setippliedImage (AlgorithmTndex:int) :Array =

case 2:

1R

for (var i:int=0; i < currentHeight; i++)
newImage[i] = new Array(currentWidth);
for (var j:int=0; Jj <« currentWidch; j+4) 2
i
newImage[ij[j] = currentImage[i][il: =
algorithm selecting routine
switch (AlgorithmIindex)
case 0:
appliedImage = null; |
gaa = newlmage; ':;m
break:
case 1:
appliedimage = eragsion(newImage, currentWidth, cur
break;
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why did stroke = 5.0 pixel stroke?

What should be done?
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e Path-tracking visualization
— cool idea rather than link tracking?

e Social visualization
— facilitate discussing with other developers
e ex) sharing ideas whether code alarm is false positive?

e Time-series visualization |
— Controlling source code history [ 7

Time-series visualization



